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t= 0.737E-01
sdev= 43.3
degrees of freedom =136 
The probability of this result, assuming the null hypothesis, is 0.94

Group A: Number of items= 73
1.00 2.00 3.00 4.00 5.00 6.00 6.00 6.00 6.00 7.00 8.00 9.00 9.00 9.00 9.00 10.0 11.0 12.0 13.0 14.0 14.0 16.0 16.0 16.0 18.0 18.0 18.0 18.0 18.0 18.0 19.0 19.0 21.0 22.0 23.0 23.0 24.0 24.0 26.0 27.0 28.0 29.0 31.0 32.0 33.0 36.0 37.0 39.0 41.0 41.0 46.0 49.0 49.0 52.0 55.0 59.0 61.0 61.0 62.0 62.0 63.0 66.0 68.0 71.0 75.0 77.0 79.0 88.0 94.0 100. 110. 133. 341.
Mean = 38.6
95% confidence interval for Mean: 28.55 thru 48.60
Standard Deviation = 46.1
Hi = 341. Low = 1.00
Median = 24.0
Average Absolute Deviation from Median = 26.0

Group B: Number of items= 65
6.00 6.00 6.00 6.00 7.00 8.00 8.00 9.00 9.00 10.0 11.0 11.0 12.0 12.0 13.0 14.0 15.0 15.0 16.0 17.0 18.0 18.0 18.0 18.0 19.0 19.0 19.0 22.0 23.0 23.0 23.0 23.0 24.0 27.0 28.0 29.0 30.0 31.0 36.0 36.0 37.0 38.0 38.0 43.0 44.0 47.0 49.0 49.0 52.0 53.0 56.0 56.0 58.0 61.0 61.0 63.0 65.0 73.0 73.0 75.0 78.0 100. 110. 122. 276.
Mean = 38.0
95% confidence interval for Mean: 27.41 thru 48.65
Standard Deviation = 40.0
Hi = 276. Low = 6.00
Median = 24.0
Average Absolute Deviation from Median = 23.7 
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Appendix A: Comparison of CTs, Before and After Justified Eliminations from Total Compiled Data 
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After Eliminations




